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UPCOMING ONLINE BATCHES

October 2022

12 OCT 2022 19 OCT 2022 26 OCT 2022

10:30 AM to 12:30 PM 03:00 PM to 05:00 PM 08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM 10:30 AM to 12:30 PM 05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

19 OCT 2022 26 OCT 2022

CCC ONLINE COURSE BANK ONLINE LIVE CLASS

BANK ONLINE LIVE CLASS
BENGALI+ENGLISH

CCC ONLINE COURSE

BILINGUAL

12 OCT 2022

BILINGUAL BENGALI+ENGLISH
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Directions: Study the following
information carefully and answer the
following questions:

A co-education school has 4000
students. The ratio of boys to girls is 3 :
2. All the students are involved in five
different activities, viz Gardening,
Debate, Extempore, Quiz and Dance.
16% of the boys and 28% of the girls
are in Extempore and Gardening
respectively. One-fifth of the boys are
in Dance activities. The ratio of girls to
boys in Extempore is 2 : 3. 25% of the
total number of students are in Debate
competition. Girls in Dance are 60% of
the boys in the same game. 22% of the
girls are in Quiz. The remaining girls
are in Debate. 18% of the boys are in
Gardening and the remaining in Quiz.
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Directions: Study the following
information carefully and answer the
following questions:

A co-education school has 4000
students. The ratio of boys to girls is 3
. 2. All the students are involved in
five different activities, viz Gardening,
Debate, Extempore, Quiz and Dance.
16% of the boys and 28% of the girls
are in Extempore and Gardening
respectively. One-fifth of the boys are
in Dance activities. The ratio of girls
to boys in Extempore is 2 : 3. 25% of
the total number of students are in
Debate competition. Girls in Dance
are 60% of the boys in the same
game. 22% of the girls are in Quiz.
The remaining girls are in Debate.
18% of the boys are in Gardening and
the remaining in Quiz.




There are three companies namely A, B
and C which sold watches of 3 different
companies i.e. Casio, Titan and Rolex.
Total casio and total Titan sold by

company A are 58% % more and 12%%

more than total Rolex watches sold by
same company respectively. Total Rolex
sold by company B are 360 more than
total Titan sold by company A. Total
Casio watches sold by company B is
equal to the total Rolex sold by
Company A and Company B together.
Ratio of total Titan by company C to that
of by company A is 7:6. Total Casio sold
by company Cis equal to the total Titan
sold by company B. Total Rolex sold by
Company Cis 1225. Average of all types
of watches sold by company A is 890.
Average of total Casio watches sold by
all companies together is 1050.
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There are three companies namely A, B
and C which sold watches of 3 different
companies i.e. Casio, Titan and Rolex.
Total casio and total Titan sold by

company A are 58%% more and 12%%

more than total Rolex watches sold by
same company respectively. Total Rolex
sold by company B are 360 more than
total Titan sold by company A. Total
Casio watches sold by company B is
equal to the total Rolex sold by
Company A and Company B together.
Ratio of total Titan by company C to that
of by company A is 7:6. Total Casio sold
by company C is equal to the total Titan
sold by company B. Total Rolex sold by
Company Cis 1225. Average of all types
of watches sold by company A is 890.
Average of total Casio watches sold by
all companies together is 1050.




Among 400 cricket
players, 45% played in IPL
1 and 6.25% played only
in IPL 1. Again, 57.5%
players played in IPL 2 and
11.25% players played
only in IPL 2. Again, 72.5%
players played in IPL 3 and
27.5% players played only
in IPL 3. Twenty per cent
players played in all three
IPL tournaments.
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Among 400 cricket
players, 45% played in IPL
1 and 6.25% played only
in IPL 1. Again, 57.5%
players played in IPL 2 and
11.25% players played
only in IPL 2. Again, 72.5%
players played in IPL 3 and
27.5% players played only
in IPL 3. Twenty per cent
players played in all three
IPL tournaments.




In class of 80 students the

girls and the boys are in
the ratio of 3:5. The
students can speak only
Hindi or only English or
both Hindi and English.
The number of the boys
and the number of the
girls who can speak only
Hindi is equal and each of
them is 40% of the total
number of the girls. 10%
of the girls can speak
both the languages and
50% of the boys can
speak only English.
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In class of 80 students the

girls and the boys are in
the ratio of 3:5. The
students can speak only
Hindi or only English or
both Hindi and English.
The number of the boys
and the number of the
girls who can speak only
Hindi is equal and each of
them is 40% of the total
number of the girls. 10%
of the girls can speak
both the languages and
50% of the boys can
speak only English.




Data given below shows number
of girls and boys in different
classes in a college.
Number of boys in class A is
equal to number of girls in class
B. Number of boys in class B is 20
more than that of boys in class
A. Ratio between number of girls
in class A to class B is 3:2. Total
number of students in class B is
20% more than that in class A.
Number of faculty in class A =
40% of boys in class A
Number of faculty in class B =
60% of girls in class B
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Data given below shows
number of girls and boys in
different classes in a college.
Number of boys in class A is
equal to number of girls in
class B. Number of boys in
class B is 20 more than that of
boys in class A. Ratio between
number of girls in class A to
class B is 3:2. Total number of
students in class B is 20% more
than that in class A.
Number of faculty in class A =
40% of boys in class A
Number of faculty in class B =
60% of girls in class B




In a survey 3000 persons in a city, it was found that
each person is playing from at least one of the three
games i.e. cricket, football and hockey. Number of
person who are playing cricket only are 25 % more
than the number of person who playing football only.
Number of person who are playing hockey only are
120% of the number of person who are playing cricket
only cricket. Number of person who are playing all the
sports are 1/3@ of the number of person who are
playing cricket only. Number of person who are playing
both cricket and football ( but not hockey ) are 20
more than the number of person who are playing all
three sports and 190 more than the number of person
who are playing both cricket and hockey ( but not
football ). 400 people are playing both football and
hockey.
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In a survey 3000 persons in a city, it was found
that each person is playing from at least one
of the three games i.e. cricket, football and
hockey. Number of person who are playing
cricket only are 25 % more than the number of
person who playing football only. Number of
person who are playing hockey only are 120%
of the number of person who are playing
cricket only cricket. Number of person who
are playing all the sports are 1/3" of the
number of person who are playing cricket
only. Number of person who are playing both
cricket and football ( but not hockey ) are 20
more than the number of person who are
playing all three sports and 190 more than the
number of person who are playing both
cricket and hockey ( but not football ). 400
people are playing both football and hockey.



